
pkef]Qmf ;Dks{ clwsf/L 

 

qm=;+= kb tx gfd sfof{no 

1 k|zf;g clws[t 7 /fd sÚdf/ df:s] dxf+sfnrf}/ zfvf sfof{no 

2 ;xfos k|zf;g clws[t 6 uf]lk gfy clwsf/L sdnfbL zfvf sfof{no 

3 ;xfos k|zf;g clws[t 6 k|df]b gfy l/dfn jfg]Zj/ zfvf sfof{no 

4 ;xfos k|zf;g clws[t 6 bIf sÚdf/ kf]v/]n dWokÚ/ l&ld zfvf sfof{no 

5 ;xfos k|zf;g clws[t 6 ;Úbz{g vqL If]qL eQmkÚ/ zfvf sfof{no 

6 ;xfos k|zf;g clws[t 6 s)f{ axfbÚ/ wgfx nlntkÚ/ zfvf sfof{no 

7 ;xfos n]vf clws[t 6 Gx'R%] axfb'/ dxh{g lslt{kÚ/ zfvf sfof{no 

8 ;xfos k|zf;g clws[t 6 sdnf kf&s lqkÚ/]Zj/ zfvf sfof{no 

9 ;xfos n]vf clws[t 6 /fhÚ k|;fb uf}td If]qkfl^ zfvf sfof{no 

10 ;xfos k|zf;g clws[t 6 uLtf kf]v/]n dxf/fhuGh zfvf sfof{no 

 


